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Quiz #2, Math 116, Spring 2007

1. For the weighted voting system [q: 7, 6, 5, 5, 5, 4, 4], what is the smallest value the quota can have?  What is the largest?

2. In the weighted voting system [q: 6, 5, 3, 3], determine the quota that would give P1 the veto (and no one else).

3. For the weighted voting system [7: 4, 3, 1], list the winning coalitions, and then calculate the Banzhaf power distribution for the system.

4. How many sequential coalitions are needed to determine the Shapley-Shubik power distribution for the weighted voting system [q: 7, 6, 6, 5, 3]?  Do NOT list them.
